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2 = [(O-E)2/E]
for one-way "goodness of fit" test df = no. of categories -1
for two-way "test for independence" df = (R-1)(C-1) and expected frequencies fE = fC*fR/N
standardized residual = (O-E) / √E (residual: O-E; standard error of residual: √E)
SS = (Y-MY)2 in sample or (Y-Y)2 in population; MY refers to the mean of the Y scores, often written w/o subscript as just M
2 = SS/N
 = √2
z = (Y-)/ and informally z = (Y-MY)/s
M = /√N
s2 = SS/df = (Y-MY)2 / (N-1)
s = √s2
sM = s/√N
z = (M-)/M
t(df) = (M-)/sM , df = N-1
t(df) = (M1 - M2) - (1 - 2)/sM1 - M2 , df = (N1 -1) + (N2 -1) = df1 + df2
sM1 - M2 = √(s12/N1 + s22/N2) or √(sp2/N1 + sp2/N2) when variances are homogeneous
sp2 = (SS1 + SS2) / (df1 + df2)
95% CI, single sample: M - t.05(df)*sM ≤  ≤ M + t.05(df)*sM 
95% CI, two independent samples: (M1 - M2) - t.05(df)*sM1 - M2 ≤ (1 - 2) ≤ (M1 - M2) + t.05(df)*sM1 - M2
d = (M1 - M2)/sp ; sp = √sp2 = √MSS/A ; for single sample, d = (M - )/s
r2 = t2 / (t2 +df)
power = 1-
F(df1, df2) = F(df for numerator, df for denominator) = F(dfA, dfS/A); for a=2, df1 = 2 - 1 = 1, and F(1, df2) = [t(df2)]2
notation: Yij refers to score of subject number "i" in group number "j", Mj = mean of group "j", MT(OTAL) = mean of all scores
partitioning scores: (Yij - MT ) = (Yij - Mj )+ (Mj - MT )
[bookmark: _GoBack]partitioning SS: (Yij - MT)2 = (Yij - Mj)2 + n(Mj - MT)2 or SSTOTAL = SSW/IN + SSBET = SSS/A + SSA = SSERROR + SSTRTMT in general
SSA = nj(Mj - MT)2 = n1(M1-MT)2 + n2(M2-MT)2 + n3(M3-MT)2 + ... = n(Mj - MT)2 for equal n
dfA = a-1
SSS/A = (Yij - Mj)2 = SS1 + SS2 + SS3 + ...
dfS/A = (dfj) = df1 + df2 + df3 + ... = (n1-1) + (n2-1) + (n3-1) + ... = a(n-1) for equal n
MSA = SSA / dfA
MSS/A = SSS/A / dfS/A
F(dfA, dfS/A) = MSA / MSS/A
R2 = SSA / SStotal in sample, often referred to as 2
f = A / error in population; in sample, √[(a-1)(F-1)/an]
2 = 2A / 2total in population; in sample, (a-1)(F-1)/[(a-1)(F-1) + an]
linear model: Yij = T + j + Eij 
square root transformation Y' = √(Y + .5); logarithm transformation Y' = log(Y + 1); arcsine transformation Y' = 2arcsin(√Y)
